PreCalculus Name,
More Sum & Difference Identities WS

1. Using angles from the unit circle, find the EXACT value of €05255.

13
#2-6. Find the following given: « is in quadrant IT and CSCa = z

4
p is in quadrant IIT and cot S = 3

25
0 is in quadrant IV and seco = =

2. cos(f-a)
3. sin(a+p)
4. tan(S+6)
B. sin(9—7—ﬂj

6
6. 003(5—”+aj

3

7. Simplify:  sin [37” + xj




#8-10. Solve each of the following equations over the interval [O, 27z)

(57[ j (57[ )
8. Cos| ——x|=cos| —+x|-1
4 4

9. Zcos(x—s—”j = cotz
2 6

10. sin(x+77”j+5—5cosx =8c0s’ X




